2017 SANTA CLARA LAW SCHOOL TOKYO SUMMER PROGRAM

PROGRAM SCHEDULE

(May 28 – July 28)

Orientation and Core Class held at

ASIA CENTER OF JAPAN

Room 2-C

Address:

Asia Center of Japan 8-10-32, Akasaka, Minato-ku, Tokyo 107-0052 JAPAN Tel (81)-3-3402-6111

1st week of Academic Program

Date	Lectures	Professor	Hour and place
28 MAY	Orientation	Prof. Polden and	6:00 - 8:00 PM
SUNDAY	Meeting	Marcus Kosins	(Asia Ctr, Rm 2-C)
29 MAY	Japan and	Prof. Matsushita	10.00 - 11.50 AM
MONDAY	International Trade	$50 \times 4 + 20 = 220$	1.30 – 3.50 PM
	Law	minutes	
30 MAY	Japan and	Prof. Matsushita	10.00 - 11.50 AM
TUESDAY	International Trade	50 X 4 + 20 = 220	1.30 - 3.50 PM
	Law	minutes	
31 MAY	Japan and	Prof. Matsushita	10.00 AM –
WEDNESDAY	International Trade	50 X 2=100 minutes	12.20 PM
	Law		
	7.5	D 0 D 11	D 2 20
	Ministry of Justice	Prof. Polden and	Depart 2.30 – starts
	Tour	Marcus Kosins	3:30 5.30 PM
1 JUNE	Tomon and	Prof. Matsushita	10.00 - 11.50 AM
THURSDAY	Japan and International Trade	50 X 2=100 minutes	10.00 - 11.30 AM
ITIOKSDAI	Law	30 X 2–100 minutes	
	Law		
2 JUNE	Japan and	Prof. Matsushita	10.00 – 11.50 AM
FRIDAY	International Trade	50 X 2=100 minutes	10.00 11.001111
	Law		
	Japan Patent	Prof. Polden and	Two Groups
	Office Tour	Marcus Kosins	#1: 2.00 – 3.00 PM
			#2: 3.00 – 4.00 PM
			(Each Group leaves
			1 hour prior to start)
			Group Leaders:
			#1: Marcus Kosins
			#2: Prof. Polden
Weekend			
3 and 4 JUNE	No classes		
SATURDAY and	110 010303		
SUNDAY			
SSTIDITI	1	1	1

2nd week of Academic Program

Date	Lectures	Professor	Hour and place
5 JUNE	Japanese Legal	Prof. Abe	10.00 – 11.50 AM
MONDAY	System Part 1	50 X 4 = 200	1.30 - 3.20 PM
		minutes	
	Japan Patents and	Prof. Inaba	6.00 - 8.20 PM
	Trademarks	$50 \times 2 + 20 = 120$	
		minutes	
6 JUNE	Japanese Legal	Prof. Abe	10.00 – 11.50 AM
TUESDAY	System Part 1	50 X 4 = 200	1.30 – 3.20 PM
		minutes	
	Japan Patents and	Prof. Inaba	6.00 - 8.20 PM
	Trademarks	$50 \times 2 + 20 = 120$	
		minutes	
7 JUNE	Japanese Legal	Prof. Abe	10.00 – 12.20 AM
WEDNEDAY	System Part 1	50 X 2 = 120	
		minutes	
	T. Divis	D 0 D 11 1	D
	Japan Diet Tour	Prof. Polden and	Depart 2.30 – starts
		Marcus Kosins	3:30 5.00 PM
8 JUNE	Jananasa Lagal	Prof. Abe	10.00 AM -
THURSDAY	Japanese Legal System Part 1	$50 \times 2 + 20 = 120$	10.00 AM – 12.20 PM
IIIUKSDAI	System Fart 1	minutes	12.20 F W
		IIIIIutes	
	Japan Patents and	Prof. Inaba	
	Trademarks	$50 \times 2 + 20 = 120$	6.00 – 8.20 PM
	Tracemarks	minutes	0.00 0.2011
9 JUNE	Japanese Legal	Prof. Abe	10.00 – 11.50 AM
FRIDAY	System Part 1	50 X 2 = 100	10.00 11.0011111
		minutes	
	Japan Patents and	Prof. Inaba	6.00 – 8.20 PM
	Trademarks	$50 \times 2 + 20 = 120$	
		minutes	
Weekend			
10 and 11 JUNE			
SATURDAY and	No Classes		
SUNDAY			

3rd week of Academic Program

Date	Lectures	Professor	Hour and place
12 JUNE	Japanese Legal	Prof. Taniguchi	10.00 – 11.50 PM
MONDAY	System Part 2	50 X 4 = 200	1.30 - 3.20 PM
		minutes	
	Japanese Patents	Prof. Inaba	6.00 – 8.20 PM
	and Trademarks	$50 \times 2 + 20 = 120$	
12 HINE	Innanasa I agal	minutes Draf Tanianahi	10.00 11.50 AM
13 JUNE TUESDAY	Japanese Legal	Prof. Taniguchi 50 X 4 = 200	10.00 – 11.50 AM 1.30 – 3.20 PM
TUESDAT	System Part 2	30 X 4 - 200 minutes	1.30 - 3.20 PWI
		illillucs	
14 JUNE	Japanese Legal	Prof. Taniguchi	10.00 – 11.50 PM
WEDNEDAY	System Part 2	$50 \times 4 + 20 = 220$	1.30 – 3.50 PM
		minutes	
	Japan Patents and	Prof. Inaba	6.00 - 8.40 PM
	Trademarks	$50 \times 2 + 40 = 140$	
		minutes	
15 JUNE	Japanese Legal	Prof. Taniguchi	10.00AM –
THURSDAY	System Part 2	$50 \times 2 + 20 = 120$	12.20 PM
		minutes	
	Supreme Court	Prof. Polden and	Depart 2.30 – starts
	Tour	Marcus Kosins	3:30 5.30 PM
	Tour	TVICIOUS TROBINS	3.30 3.301111
16 JUNE	International	Prof. Jimenez	10.00 – 11.50 AM
FRIDAY	Business	50 X 4 + 20 = 220	1.30 – 3.50 PM
	Transactions	minutes	
	Professors' Dinner	Hosted by	7:00 PM at
	(Professors Only)	Prof. Polden	restaurant to be
Waalrand			determined
Weekend 17 and 18 JUNE	No classes		
SATURDAY and	110 0105555		
SUNDAY			
DOMDAN		1	l

4th and Final Week of Academic Program

Date	Lectures	Professor	Hour and place
19 JUNE	International	Prof. Jimenez	10.00 – 11.50 AM
MONDAY	Business	50 X 4 = 200	1.30 - 3.20 PM
	Transactions	minutes	
**************************************		D 0 1	10.00 11.50 77.5
20 JUNE	International	Prof. Jimenez	10.00 – 11.50 PM
TUESDAY	Business	50 X 4 = 200	1.30 – 3.20 PM
	Transaction	minutes	
also also also also also also also also			
******	**********	******	******
LAST CLASS	TAKE-HOME		LAST CLASS
	EXAMS: After last		
	class exams for the		
	courses (except		
	Mr. Inaba's) will		
	be e-mailed to all		
	students. Answers		
	must be e-mail to		
	Marcus Kosins at		
	mkjlaw@gol.com		
	on or before the		
	Deadline of June		
	30, 12 noon.		

Core Courses -"Doing Business in Japan"

The core 4-unit class is taught by Professor Keisuke Abe (Part 1, Japan Legal System), Professor Yasuhei Taniguchi (Part 2, Japan Legal System), Professor Mitsuo Matsushita (Japan and International Trade Law) and Professor Philip Jimenez (International Business Transactions).

It is taught at the Asia Center in our 2nd floor classroom, room 2C. The address and contact info of the Asia Center are on the front of this PROGRAM SCHEDULE. Students are required to *attend ALL tours*; the Japan Supreme Court, the Ministry of Justice, the Japanese Diet (usually including a meeting with a high ranking Diet member) and the Japanese Patent and Trademark Office.

Optional Course

The program's optional course is *Japan Patents and Trademarks* taught by Yoshiyuki Inaba, a practicing Japanese patent attorney at one of the largest law firms in Tokyo. The course is taught at their office located 15 minutes from Roppongi subway station. This is an evening class and to enter the building, present a photo ID to the receptionist on the first floor, location is:

TMI Associates ("TMI")
23rd Fl., Roppongi Hills, Mori Tower
6-10-1 Roppongi, Minato-ku, Tokyo, Japan 1066123
Tel (03) 6438-5511, Fax (03) 6438-5522
For Map see http://www.tmi.gr.jp/english/about/access.html

INTERNSHIPS

The Internships will begin on Monday, June 26 and end on Friday, July 21 for the 3 credit students, and end on Monday, July 28 for the 4 credit students. Details will be discussed after the academic program begins, with student advised of their placements in mid-June, after which they will contact their firm to make arrangements for the first internship day.

There are two meetings for all interning students in Tokyo that allow us to exchange experiences and discuss about the internship process. These are mandatory meetings. Be sure to advise your firms of these meetings dates and put then on your schedule. If you miss either of these meetings you will not receive any credit for the Internship.

Wednesday, July 5	First Internship Meeting Marcus Kosins plus Guest Speaker	7.008.30 PM (Held at Room 2-C of Asia Center)
Tuesday, July 18	Second Internship Meeting	7.008.30 PM
	Marcus Kosins	(Held at 1st Floor Asia Center)

Directors of the Tokyo Program are:

Program Director: Dean Emeritus, Professor Donald Jr. Polden

Santa Clara University School Of Law Center for Global Law and Public Policy 500 El Camino Real, Santa Clara, CA 95053 Tel: (408) 554-4768 Email: dpolden@scu.edu

Santa Clara Law Faculty:

Professor Philip Jimenez

Santa Clara University School of Law Center for Global Law and Public Policy 500 El Camino Real, Santa Clara, CA 95053

Tel: (408) 551-3000

Email: pjimenez@scu.edu

Prof. Polden, Prof. Jimenez and Marcus Kosins, as well as the staff at SCU will provide program support, and they will be on-site for the program until the end of program. They will provide students with information and will be the law school's on-site representatives and contact persons. Following the conclusion of the program, Professor Polden together with Marcus Kosins in Tokyo and Shane Hong in Seoul, will provide support and assistance to students taking internships.

Resident Director:

Marcus Kosins

Kosins Law Office 3-3-3-302 Higashi-Azabu Minato-ku, Tokyo 106-0044, Japan Japan Cellular Telephone: 080-5017-6394

(outside Japan: +81-80-5017-6394)

E-mail: mkjlaw@gol.com

For emergencies: Do not hesitate to call the US Embassy, Tokyo at (03) 3224-5000 24 hours a day, where a duty officer is available 24 hours a day, every day, to talk with you, whether the US Embassy is open or not. Advise receptionist of nature of emergency. Also contact the local police, and see other materials provided to you by the law school.

End